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The directors of Makeit Ltd propose to buy a machine costing $300 000. At the end of five years
the machine will be sold for $50 000. In each of the five years the machine will increase revenue by
$160000. Increased annual expenditure of $80 000 will be incurred.
Makeit Ltd will require an increase in working capital of $40 000. Machinery is depreciated on the
straight line method.
REQUIRED
(a) Calculate the accounting rate of return (ARR) which will result if the machine is purchased.
[10]
The directors have decided to calculate the payback period of the machine and have decided to
discount future net receipts by the cost of capital which is 10%.
The discounting factors at 10% are:
year 1 0.909
2 0826
3 0.751
4 0683
5 0.621
REQUIRED
(b) Calculate the discounted payback period for the machine. (It will be necessary to discount the
net receipts.) [5]
Makeit Ltd currently earns a return of 1 5% on its capital. The discounting factors at 20% are:
year 1 0.833
2 0694
3 0.579
4 0482
5 0402
__/REQUIRED
(c) (i) Calculate the internal rate of return (IRR). [10]
(i) State with reasons whether the directors should purchase the machine. [3]

The directors believe that the various methods of appraising capital expenditure have advantages
and disadvantages.

REQUIRED

(d) State the advantages and disadvantages of using the following methods:

(i) accounting rate of return (ARR)

~ ()
(i)} payback period ’w;»\:l}
(ifi) internal rate of return (IRR). TS [12]
[Total: 40]
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